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log sim-log
list
MI (3200) nn 1=1l.u w= 50.u
M2 {2200) nn I=100.u w=1l.u
M3 (4420) nn 1= 0.0049 w= 1l.u
Rd (43) 1l.K
vdd { 4 0 ) DC 10.
Cin {12) 1l.u
Cout ( 35) 1l.u
Vin ( 1 0 ) GENERATOR
.model nn nmos (level=1 tnom= 27, fc= 0.5 pb= 0.8 cj= 0. mj= 0.5 cijsw= 0. mjsw= 0.5
s= 10.f rsh= 0. cgso= 0. cgdo= 0. cgbo= 0. vto= 1. gamma= 0. phi= 0.6 lambda= 0.01 ld=
0. wuo= 600. tpg=1 kp= 200.u)
*+(* cox= 0.)
print op v{nodes) i
op Yot
¥ v(l) v (2) v(3) v (4) v (5) \ \'Ey
300.15 0. 2.0251 4.5094 10. 0. | q‘zi
2;““ op id{m*) CORAs1 17,20, 20,22
' id(M1) idM2) id(M3) | paezi 3233
300.15 0.0054906 1.072u 1.072u ! . A
print ac v(nodes) CHT O all evernises
ac 1k
#Freq v(l) v{2) v{3) v{4) v {5) .
1.K 1. 1. 10.178 101.78n 10.178 .
print ac z(vin) !
ac L7
tFreq z (Vin) ey G0 faut ¢ /
1.K 113,31 4 A i
print op region(m*) :
op . A
4 region{(Ml) region(MZ) region{M3)
300.15 7. 7. 7.
print op gds(m*)
op
# gds (M1} gds (M2) gds (M3)
300.15 52.537u 10.507n 9.9285n
build W e e ey e
m3 4 422 nn w=lu 1=4900u S A S R R
list
MI (3200) nn 1= 1l.u w= 50.u .
M2 {2200) nn 1= 100.u = 1l.u
M3 {4422) nn 1= 0.0049 w=1l.u
Rd (43) 1.K
vdd ( 4 0 ) DC 10.
Cin {1 2) 1l.u
Cout ( 35) 1l.u
Vin (1 0 } GENERATOR
.model nn nmos ({level=1 tnom= 27. fc= 0.5 pb= 0.8 c¢j= 0. mj= 0.5 cjsw= 0. mjsw= 0.5
s= 10.f rsh= 0. cgso= 0. cgdo= 0. cgbo= 0. vto= 1. gamma= 0. phi= 0.6 lambda= 0.01 1ld=
0. uo= 600. tpg=1 kp= 200.u)
*+(* cox= 0.)
print op v(nodes)
op
# v(l) v(2) v(3) v{4) v (5)
300.15 0. 2.0251 4.5093 10. 0.

save amp2al.ckt
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sim-run-2
get amplal.ckt
’

print op v{(nodes)

op

# v{1l) v(2) v(3)
300.15 0. 2.0251 4.5093

print op gm{m*)

op

# gm (M1) gm{(M2) gm(M3)
300.15 0.010713 2.0916u 307.4n
list

Ml (3200) nn 1= 1l.,u w= 50.u

M2 (2200) nn 1= 100.u w=l.u

M3 (4422) nn 1= 0,0049 w=1l.u

Rd ( 4 3) 1.K

vdd ( 4 0) DC 10

Cin (1 2) 1l.u

Cout ( 3 5) 1l.u

vin ( 1 0 ) GENERATOR

.model nn nmos (level=l tnom= 27. £
mijsw= 0,5 ism 10.f rsh= 0. cgso=~ 0.
i= 0,6 lambda= 0,01 1ld= 0. wuo= 600.
*+(* cox= 0.)

del m2

build

i3 2 0 dc lu

op

# gm(M1) gm (M3)

300.15 0.012808 296.5Mn

print op v(nodes)

op

# v(l) v(2) v(3)
300.15 g. 2.2563 1.9547

build

build

list

Ml (3200) nn l=1l.u w= 50.u

M3 (4422) nn 1l=0.0049 we l.u

Rd ( 4 3) 1.K

vdd ( 4 0} DC 10

Cin (12) 1l.u

Cout ( 3 5) 1.u

vin ( 1 0 } GENERATOR

.model nn nmos (level=l tnom= 27, f
mijsw= 0,5 igm 10,.f rsh= 0, cgso= 0.
im 0,6 lambda= 0,01 1ld= 0. wuo= 600.
*+(* cox= 0.)

I3 (20) DC 1l.u

build

i3 2 0 dec 1l.1u

op

# v(l) v(2) v(3)
300.15 0. 1.9376 5.369

print ac v{(nodes) z(vin)

ac 1k

#Freq vi(l) v(2) v(3)
1.K 1. 1. 9.463

print op gm(m3) gds(m3)

op

# gm (M3) gds (M3)

300.15 311.5n 10.179n

get amp2al.ckt

r

print op v{nodes)

op

¥ v(l) v(2) v(3)

Mon Apr 11 00:44:27 2005

v(4) v(5)
10. 0.
c= 0.5 pb= 0.8 ci=
cgdo= 0. cgbo= 0.
tpg=l kp= 200.u}
v(4) v(5)
10. 0.
¢c= 0.5 pb= 0.8 cj=
cgdo= 0. cgbo= 0.
tpg=1 kp= 200.u)
v{4) vi(5)
10. 0.
v(4) v{5)
94.627n 9.463
v(4) v(5)

ph

ph

1
0. mj= 0.5 cisw= 0.
vto= 1. gamma= 0.
0. mj= 0.5 cjsw= 0.
vto= 1. gamma= 0.
z(Vin)
3.1086Meg

300.15 0. 2.0251 4.5093 10. 0.
print ac v{nodes) z(vin)
ac 1k
#Freq v{l) v{2) v(3) vi{4) v(5)
1.K 1. 1. 10.178 101.78n 10.178
del m3
build
i3 4 2 dc 1lu
op
# vil) v(2) v(3) v(4) v(5)
300.15 0. 1.9902 4.8594 10. 0.
ac
#Freg v(l) v(2) v{3) vi{4) v{5)
1.K 1. 1. 9.8979 98.979n 9.8979
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